

Calvert County Government
Procurement Office

2019-126
Drainage Pipe Bands, Flanged End
Sections, Fittings

Bid due 6/14/2019

	BELAIR ROAD SUPPLY	CORE & MAIN	FERGUSON	LANE ENTERPRISES
SUBTOTAL 1 - DRAINAGE PIPE	\$70,299.60	\$67,835.40	\$67,802.00	\$65,817.00
SUBTOTAL 2 - FITTINGS	\$14,049.20	\$13,756.35	\$13,614.35	\$6,000.00
SUBTOTAL 3 - BANDS (COUPLERS)	\$941.50	\$918.80	\$926.40	\$652.00
SUBTOTAL 4 - FLANGED END SECTIONS	\$44,140.35	\$43,448.81	\$41,135.56	\$39,849.06
	\$129,430.65	\$125,959.36	\$123,478.31	\$112,318.06

BELAIR ROAD SUPPLY

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS

DRAINAGE PIPE					
ITEM	PIPE DIMENSION(S)	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
1.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE¹					
1.A.1.	15 inches	400	Linear feet	\$6.78	\$2,712.00
1.A.2.	18 inches	400	Linear feet	\$8.43	\$3,372.00
1.A.3.	24 inches	200	Linear feet	\$14.05	\$2,810.00
1.A.4.	30 inches	200	Linear feet	\$21.79	\$4,358.00
1.A.5.	36 inches	200	Linear feet	\$26.64	\$5,328.00
1.A.6.	48 inches	200	Linear feet	\$43.10	\$8,620.00
1.A.7.	60 inches	200	Linear feet	\$63.92	\$12,784.00
1B. POLYPROPYLENE PLASTIC DRAINAGE PIPE¹					
1.B.1.	15 inches	60	Linear feet	\$10.46	\$627.60
1.B.2.	18 inches	60	Linear feet	\$13.91	\$834.60
1.B.3.	24 inches	60	Linear feet	\$23.48	\$1,408.80
1.B.4.	36 inches	60	Linear feet	\$40.05	\$2,403.00
1.B.5.	48 inches	60	Linear feet	\$67.61	\$4,056.60
1.B.6.	60 inches	60	Linear feet	\$102.35	\$6,141.00
1.C. 12-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE¹					
1.C.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$21.32	\$4,264.00
1.C.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$25.59	\$5,118.00
D. 16-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE¹					
1.D.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$12.41	\$2,482.00
1.D.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$14.90	\$2,980.00
¹ It is the intent of Calvert County Government to buy these items in twenty (20) linear feet					
SUBTOTAL 1 - DRAINAGE PIPE				\$516.79	\$70,299.60

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS

2. FITTINGS					
ITEM	FITTINGS FOR PIPE SIZE LISTED	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
2.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE TEE SECTIONS					
2.A.1	15 inches	5	Each	\$342.77	\$1,713.85
2.A.2	18 inches	5	Each	\$502.99	\$2,514.95
2.A.3	24 inches	5	Each	\$1,030.03	\$5,150.15
2.B. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 45 DEGREE BENDS					
2.B.1	15 inches	5	Each	\$84.70	\$423.50
2.B.2	18 inches	5	Each	\$112.86	\$564.30
2.B.3	24 inches	5	Each	\$230.47	\$1,152.35
2.C. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 90 DEGREE BENDS					
2.C.1	15 inches	5	Each	\$97.75	\$488.75
2.C.2	18 inches	5	Each	\$137.13	\$685.65
2.C.3	24 inches	5	Each	\$271.14	\$1,355.70
SUBTOTAL 2 - FITTINGS				\$2,809.84	\$14,049.20

3. BANDS/COUPLERS					
ITEM	FITTINGS FOR PIPE SIZE LISTED	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
3.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE BANDS (COUPLERS)					
3.A.1	15 inches	10	Each	\$13.09	\$130.90
3.A.2	18 inches	10	Each	\$22.30	\$223.00
3.A.3	24 inches	10	Each	\$31.45	\$314.50
3.B. 16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED BANDS					
3.B.1	13 x 17 inches CMP BAND	10	Each	\$12.41	\$124.10
3.B.2	15 x 21 inches CMP BAND	10	Each	\$14.90	\$149.00
SUBTOTAL 3 - BANDS (COUPLERS)				\$94.15	\$941.50

4. FLANGED END SECTIONS						
ITEM	FITTINGS FOR		ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED					
4.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE FLANGED END					
4.A.1.	15 inches		20	Each	\$123.90	\$2,478.00
4.A.2.	18 inches		20	Each	\$166.43	\$3,328.60
4.A.3.	24 inches		10	Each	\$213.59	\$2,135.90
4.B.	16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED PIPE					
4.B.1.	13 x 17 inches		10	Each	\$148.05	\$1,480.50
4.B.2.	15 x 21 inches		10	Each	\$179.32	\$1,793.20
4.B.3.	24 inches		4	Each	\$266.90	\$1,067.60
4.B.4.	30 inches		4	Each	\$485.83	\$1,943.32
4.B.5.	36 inches		4	Each	\$787.13	\$3,148.52
4.B.6.	48 inches		4	Each	\$1,699.37	\$6,797.48
4.B.7.	60 inches		4	Each	\$3,065.11	\$12,260.44
4.C.	PVC DRAIN BASIN (NYLOPLAST OR EQUIVALENT ¹)					
4.C.1.	15 inches under 5 feet vertical height		1	Each	\$599.93	\$599.93
4.C.2.	18 inches under 5 feet vertical height		1	Each	\$646.26	\$646.26
4.C.3.	24 inches under 5 feet vertical height		1	Each	\$847.96	\$847.96
4.C.4.	15 in. between 6 & 10 ft vertical height		1	Each	\$739.87	\$739.87
4.C.5.	18 in. between 6 & 10 ft vertical height		1	Each	\$802.60	\$802.60
4.C.6.	24 in. between 6 & 10 ft vertical height		1	Each	\$1,034.23	\$1,034.23
4.C.7.	15 inches Flat Grate		1	Each	\$349.96	\$349.96
4.C.8.	15 inches Dome Grate		1	Each	\$428.14	\$428.14
4.C.9.	18 inches Flat Grate		1	Each	\$418.49	\$418.49
4.C.10.	18 inches Dome Grate		1	Each	\$529.47	\$529.47
4.C.11.	24 inches Flat Grate		1	Each	\$559.40	\$559.40
4.C.12.	24 inches Dome Grate		1	Each	\$750.48	\$750.48
SUBTOTAL 4 - FLANGED END SECTIONS					\$14,842.42	\$44,140.35

BID SUMMARY			
SUBTOTAL 1 - DRAINAGE PIPE		\$516.79	\$70,299.60
SUBTOTAL 2 - FITTINGS		\$2,809.84	\$14,049.20
SUBTOTAL 3 - BANDS (COUPLERS)		\$94.15	\$941.50
SUBTOTAL 4 - FLANGED END SECTIONS		\$14,842.42	\$44,140.35
TOTAL BID BASED ON ESTIMATED ANNUAL QUANTITIES		\$18,263.20	\$129,430.65

Core & Main LP

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS					
1. DRAINAGE PIPE					
ITEM	PIPE DIMENSION(S)	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
1.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE ¹					
1.A.1.	15 inches	400	Linear feet	\$6.53	\$2,612.00
1.A.2.	18 inches	400	Linear feet	\$8.12	\$3,248.00
1.A.3.	24 inches	200	Linear feet	\$13.54	\$2,708.00
1.A.4.	30 inches	200	Linear feet	\$21.01	\$4,202.00
1.A.5.	36 inches	200	Linear feet	\$25.68	\$5,136.00
1.A.6.	48 inches	200	Linear feet	\$41.55	\$8,310.00
1.A.7.	60 inches	200	Linear feet	\$61.62	\$12,324.00
1B. POLYPROPYLENE PLASTIC DRAINAGE PIPE ¹					
1.B.1.	15 inches	60	Linear feet	\$10.08	\$604.80
1.B.2.	18 inches	60	Linear feet	\$13.41	\$804.60
1.B.3.	24 inches	60	Linear feet	\$22.64	\$1,358.40
1.B.4.	36 inches	60	Linear feet	\$38.61	\$2,316.60
1.B.5.	48 inches	60	Linear feet	\$65.18	\$3,910.80
1.B.6.	60 inches	60	Linear feet	\$98.67	\$5,920.20
1.C. 12-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE ¹					
1.C.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$20.66	\$4,132.00
1.C.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$24.79	\$4,958.00
D. 16-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE ¹					
1.D.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$12.02	\$2,404.00
1.D.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$14.43	\$2,886.00
¹ It is the intent of Calvert County Government to buy these items in twenty (20) linear feet sections.					
SUBTOTAL 1 - DRAINAGE PIPE				\$498.54	\$67,835.40

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS						
2. FITTINGS						
ITEM	FITTINGS FOR		ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED					
2.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE TEE SECTIONS						
2.A.1	15 inches		5	Each	\$335.63	\$1,678.15
2.A.2.	18 inches		5	Each	\$492.51	\$2,462.55
2.A.3.	24 inches		5	Each	\$1,008.56	\$5,042.80
2.B. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 45 DEGREE BENDS						
2.B.1	15 inches		5	Each	\$82.93	\$414.65
2.B.2.	18 inches		5	Each	\$110.50	\$552.50
2.B.3.	24 inches		5	Each	\$225.67	\$1,128.35
2.C. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 90 DEGREE BENDS						
2.C.1.	15 inches		5	Each	\$95.71	\$478.55
2.C.2.	18 inches		5	Each	\$134.27	\$671.35
2.C.3.	24 inches		5	Each	\$265.49	\$1,327.45
SUBTOTAL 2 - FITTINGS					\$2,751.27	\$13,756.35

3. BANDS/COUPLERS						
ITEM	FITTINGS FOR		ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED					
3.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE BANDS (COUPLERS)						
3.A.1.	15 inches		10	Each	\$12.81	\$128.10
3.A.2.	18 inches		10	Each	\$21.83	\$218.30
3.A.3	24 inches		10	Each	\$30.79	\$307.90
3.B. 16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED BANDS						
3.B.1.	13 x 17 inches CMP BAND		10	Each	\$12.02	\$120.20
3.B.2.	15 x 21 inches CMP BAND		10	Each	\$14.43	\$144.30
SUBTOTAL 3 - BANDS (COUPLERS)					\$91.88	\$918.80

4. FLANGED END SECTIONS					
ITEM	FITTINGS FOR	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED				
4.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE FLANGED END				
4.A.1.	15 inches	20	Each	\$121.31	\$2,426.20
4.A.2.	18 inches	20	Each	\$162.96	\$3,259.20
4.A.3.	24 inches	10	Each	\$209.14	\$2,091.40
4.B.	16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED PIPE				
4.B.1.	13 x 17 inches	10	Each	\$143.46	\$1,434.60
4.B.2.	15 x 21 inches	10	Each	\$173.77	\$1,737.70
4.B.3.	24 inches	4	Each	\$258.64	\$1,034.56
4.B.4.	30 inches	4	Each	\$470.80	\$1,883.20
4.B.5.	36 inches	4	Each	\$792.78	\$3,171.12
4.B.6.	48 inches	4	Each	\$1,646.80	\$6,587.20
4.B.7.	60 inches	4	Each	\$2,970.31	\$11,881.24
4.C.	PVC DRAIN BASIN (NYLOPLAST OR EQUIVALENT ¹)				
4.C.1.	15 inches under 5 feet vertical height	1	Each	\$609.39	\$609.39
4.C.2.	18 inches under 5 feet vertical height	1	Each	\$666.86	\$666.86
4.C.3.	24 inches under 5 feet vertical height	1	Each	\$913.09	\$913.09
4.C.4.	15 in. between 6 & 10 ft vertical height	1	Each	\$781.13	\$781.13
4.C.5.	18 in. between 6 & 10 ft vertical height	1	Each	\$857.71	\$857.71
4.C.6.	24 in. between 6 & 10 ft vertical height	1	Each	\$1,140.48	\$1,140.48
4.C.7.	15 inches Flat Grate	1	Each	\$305.14	\$305.14
4.C.8.	15 inches Dome Grate	1	Each	\$400.58	\$400.58
4.C.9.	18 inches Flat Grate	1	Each	\$388.81	\$388.81
4.C.10.	18 inches Dome Grate	1	Each	\$524.29	\$524.29
4.C.11.	24 inches Flat Grate	1	Each	\$560.82	\$560.82
4.C.12.	24 inches Dome Grate	1	Each	\$794.09	\$794.09
SUBTOTAL 4 - FLANGED END SECTIONS				\$14,892.36	\$43,448.81

BID SUMMARY		
SUBTOTAL 1 - DRAINAGE PIPE	\$498.54	\$67,835.40
SUBTOTAL 2 - FITTINGS	\$2,751.27	\$13,756.35
SUBTOTAL 3 - BANDS (COUPLERS)	\$91.88	\$918.80
SUBTOTAL 4 - FLANGED END SECTIONS	\$14,892.36	\$43,448.81
TOTAL BID BASED ON ESTIMATED ANNUAL QUANTITIES	\$18,234.05	\$125,959.36

Ferguson Enterprises LLC

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS

1. DRAINAGE PIPE					
ITEM	PIPE DIMENSION(S)	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
1.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE ¹					
1.A.1.	15 inches	400	Linear feet	\$6.43	\$2,572.00
1.A.2.	18 inches	400	Linear feet	\$8.00	\$3,200.00
1.A.3.	24 inches	200	Linear feet	\$13.33	\$2,666.00
1.A.4.	30 inches	200	Linear feet	\$20.68	\$4,136.00
1.A.5.	36 inches	200	Linear feet	\$25.29	\$5,058.00
1.A.6.	48 inches	200	Linear feet	\$40.92	\$8,184.00
1.A.7.	60 inches	200	Linear feet	\$60.68	\$12,136.00
1B. POLYPROPYLENE PLASTIC DRAINAGE PIPE ¹					
1.B.1.	15 inches	60	Linear feet	\$9.92	\$595.20
1.B.2.	18 inches	60	Linear feet	\$13.20	\$792.00
1.B.3.	24 inches	60	Linear feet	\$22.30	\$1,338.00
1.B.4.	36 inches	60	Linear feet	\$38.02	\$2,281.20
1.B.5.	48 inches	60	Linear feet	\$64.19	\$3,851.40
1.B.6.	60 inches	60	Linear feet	\$97.17	\$5,830.20
1.C. 12-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE ¹					
1.C.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$21.78	\$4,356.00
1.C.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$26.14	\$5,228.00
D. 16-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE ¹					
1.D.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$12.67	\$2,534.00
1.D.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$15.22	\$3,044.00
¹ It is the intent of Calvert County Government to buy these items in twenty (20) linear feet sections.					
SUBTOTAL 1 - DRAINAGE PIPE				\$495.94	\$67,802.00

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS

2. FITTINGS					
ITEM	FITTINGS FOR	ESTIMATE D ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED				
2.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE TEE SECTIONS					
2.A.1	15 inches	5	Each	\$332.16	\$1,660.80
2.A.2.	18 inches	5	Each	\$487.43	\$2,437.15
2.A.3.	24 inches	5	Each	\$998.16	\$4,990.80
2.B. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 45 DEGREE BENDS					
2.B.1	15 inches	5	Each	\$82.07	\$410.35
2.B.2.	18 inches	5	Each	\$109.36	\$546.80
2.B.3.	24 inches	5	Each	\$223.34	\$1,116.70
2.C. HDPE (TYPE S) PLASTIC DRAINAGE PIPE 90 DEGREE BENDS					
2.C.1.	15 inches	5	Each	\$94.72	\$473.60
2.C.2.	18 inches	5	Each	\$132.88	\$664.40
2.C.3.	24 inches	5	Each	\$262.75	\$1,313.75
SUBTOTAL 2 - FITTINGS				\$2,722.87	\$13,614.35

3. BANDS/COUPLERS					
ITEM	FITTINGS FOR	ESTIMATE D ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED				
3.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE BANDS (COUPLERS)					
3.A.1.	15 inches	10	Each	\$12.68	\$126.80
3.A.2.	18 inches	10	Each	\$21.61	\$216.10
3.A.3	24 inches	10	Each	\$30.47	\$304.70
3.B. 16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED					
3.B.1.	13 x 17 inches CMP BAND	10	Each	\$12.67	\$126.70
3.B.2.	15 x 21 inches CMP BAND	10	Each	\$15.21	\$152.10
SUBTOTAL 3 - BANDS (COUPLERS)				\$92.64	\$926.40

4. FLANGED END SECTIONS					
ITEM	FITTINGS FOR	ESTIMATE D ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED				
4.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE FLANGED END				
4.A.1.	15 inches	20	Each	\$120.06	\$2,401.20
4.A.2.	18 inches	20	Each	\$161.28	\$3,225.60
4.A.3.	24 inches	10	Each	\$206.98	\$2,069.80
4.B.	16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED PIPE				
4.B.1.	13 x 17 inches	10	Each	\$151.26	\$1,512.60
4.B.2.	15 x 21 inches	10	Each	\$183.22	\$1,832.20
4.B.3.	24 inches	4	Each	\$272.69	\$1,090.76
4.B.4.	30 inches	4	Each	\$496.39	\$1,985.56
4.B.5.	36 inches	4	Each	\$804.24	\$3,216.96
4.B.6.	48 inches	4	Each	\$1,600.00	\$6,400.00
4.B.7.	60 inches	4	Each	\$2,885.00	\$11,540.00
4.C.	PVC DRAIN BASIN (NYLOPLAST OR EQUIVALENT ¹)				
4.C.1.	15 inches under 5 feet vertical height	1	Each	\$400.00	\$400.00
4.C.2.	18 inches under 5 feet vertical height	1	Each	\$485.00	\$485.00
4.C.3.	24 inches under 5 feet vertical height	1	Each	\$710.18	\$710.18
4.C.4.	15 in. between 6 & 10 ft vertical height	1	Each	\$607.55	\$607.55
4.C.5.	18 in. between 6 & 10 ft vertical height	1	Each	\$667.11	\$667.11
4.C.6.	24 in. between 6 & 10 ft vertical height	1	Each	\$887.04	\$887.04
4.C.7.	15 inches Flat Grate	1	Each	\$199.00	\$199.00
4.C.8.	15 inches Dome Grate	1	Each	\$285.00	\$285.00
4.C.9.	18 inches Flat Grate	1	Each	\$275.00	\$275.00
4.C.10.	18 inches Dome Grate	1	Each	\$375.00	\$375.00
4.C.11.	24 inches Flat Grate	1	Each	\$395.00	\$395.00
4.C.12.	24 inches Dome Grate	1	Each	\$595.00	\$575.00
SUBTOTAL 4 - FLANGED END SECTIONS				\$12,762.00	\$41,135.56

BID SUMMARY		
SUBTOTAL 1 - DRAINAGE PIPE	\$495.94	\$67,802.00
SUBTOTAL 2 - FITTINGS	\$2,722.87	\$13,614.35
SUBTOTAL 3 - BANDS (COUPLERS)	\$92.64	\$926.40
SUBTOTAL 4 - FLANGED END SECTIONS	\$12,762.00	\$41,135.56
TOTAL BID BASED ON ESTIMATED ANNUAL QUANTITIES	\$16,073.45	\$123,478.31

Lane Enterprises, Inc.

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS

1. DRAINAGE PIPE					
ITEM	PIPE DIMENSION(S)	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
1.A. HDPE (TYPE S) PLASTIC DRAINAGE PIPE¹					
1.A.1.	15 inches	400	Linear feet	\$6.70	\$2,680.00
1.A.2.	18 inches	400	Linear feet	\$8.10	\$3,240.00
1.A.3.	24 inches	200	Linear feet	\$13.75	\$2,750.00
1.A.4.	30 inches	200	Linear feet	\$21.50	\$4,300.00
1.A.5.	36 inches	200	Linear feet	\$23.95	\$4,790.00
1.A.6.	48 inches	200	Linear feet	\$37.85	\$7,570.00
1.A.7.	60 inches	200	Linear feet	\$59.70	\$11,940.00
1B. POLYPROPYLENE PLASTIC DRAINAGE PIPE¹					
1.B.1.	15 inches	60	Linear feet	\$9.50	\$570.00
1.B.2.	18 inches	60	Linear feet	\$12.00	\$720.00
1.B.3.	24 inches	60	Linear feet	\$19.50	\$1,170.00
1.B.4.	36 inches	60	Linear feet	\$39.50	\$2,370.00
1.B.5.	48 inches	60	Linear feet	\$58.95	\$3,537.00
1.B.6.	60 inches	60	Linear feet	\$99.00	\$5,940.00
1.C. 12-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE¹					
1.C.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$20.45	\$4,090.00
1.C.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$24.55	\$4,910.00
D. 16-GAUGE ALUMINIZED STEEL (TYPE 2) CORRUGATED PIPE¹					
1.D.1.	13 x 17 inches ALT2 CMP	200	Linear feet	\$11.90	\$2,380.00
1.D.2.	15 x 21 inches ALT2 CMP	200	Linear feet	\$14.30	\$2,860.00
¹ It is the intent of Calvert County Government to buy these items in twenty (20) linear feet sections.					
SUBTOTAL 1 - DRAINAGE PIPE				\$481.20	\$65,817.00

DRAINAGE PIPE, BANDS, FLANGED END SECTIONS AND FITTINGS						
2. FITTINGS						
ITEM	FITTINGS FOR		ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED					
2.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE TEE SECTIONS					
2.A.1.	15 inches		5	Each	\$120.00	\$600.00
2.A.2.	18 inches		5	Each	\$170.00	\$850.00
2.A.3.	24 inches		5	Each	\$260.00	\$1,300.00
2.B.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE 45 DEGREE BENDS					\$0.00
2.B.1.	15 inches		5	Each	\$66.00	\$330.00
2.B.2.	18 inches		5	Each	\$88.00	\$440.00
2.B.3.	24 inches		5	Each	\$156.00	\$780.00
2.C.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE 90 DEGREE BENDS					\$0.00
2.C.1.	15 inches		5	Each	\$74.00	\$370.00
2.C.2.	18 inches		5	Each	\$104.00	\$520.00
2.C.3.	24 inches		5	Each	\$162.00	\$810.00
SUBTOTAL 2 - FITTINGS					\$1,200.00	\$6,000.00

3. BANDS/COUPLERS						
ITEM	FITTINGS FOR		ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED					
3.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE BANDS (COUPLERS)					
3.A.1.	15 inches		10	Each	\$8.00	\$80.00
3.A.2.	18 inches		10	Each	\$11.50	\$115.00
3.A.3.	24 inches		10	Each	\$19.50	\$195.00
3.B.	16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED BANDS					\$0.00
3.B.1.	13 x 17 inches	CMP BAND	10	Each	\$11.90	\$119.00
3.B.2.	15 x 21 inches	CMP BAND	10	Each	\$14.30	\$143.00
SUBTOTAL 3 - BANDS (COUPLERS)					\$65.20	\$652.00

4. FLANGED END SECTIONS					
ITEM	FITTINGS FOR	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL PRICE
	PIPE SIZE LISTED				
4.A.	HDPE (TYPE S) PLASTIC DRAINAGE PIPE FLANGED END				
4.A.1.	15 inches	20	Each	\$100.00	\$2,000.00
4.A.2.	18 inches	20	Each	\$136.00	\$2,720.00
4.A.3.	24 inches	10	Each	\$180.00	\$1,800.00
4.B.	16 GAUGE ALUMINIZED STEEL (TYPE2) CORRUGATED PIPE				
4.B.1.	13 x 17 inches	10	Each	\$142.00	\$1,420.00
4.B.2.	15 x 21 inches	10	Each	\$172.00	\$1,720.00
4.B.3.	24 inches	4	Each	\$256.00	\$1,024.00
4.B.4.	30 inches	4	Each	\$466.00	\$1,864.00
4.B.5.	36 inches	4	Each	\$755.00	\$3,020.00
4.B.6.	48 inches	4	Each	\$1,630.00	\$6,520.00
4.B.7.	60 inches	4	Each	\$2,940.00	\$11,760.00
4.C.	PVC DRAIN BASIN (NYLOPLAST OR EQUIVALENT ¹)				
4.C.1.	15 inches under 5 feet vertical height	1	Each	\$587.41	\$587.41
4.C.2.	18 inches under 5 feet vertical height	1	Each	\$647.97	\$647.97
4.C.3.	24 inches under 5 feet vertical height	1	Each	\$849.66	\$849.66
4.C.4.	15 in. between 6 & 10 ft vertical height	1	Each	\$695.00	\$695.00
4.C.5.	18 in. between 6 & 10 ft vertical height	1	Each	\$763.81	\$763.81
4.C.6.	24 in. between 6 & 10 ft vertical height	1	Each	\$986.07	\$986.07
4.C.7.	15 inches Flat Grate	1	Each	\$151.11	\$151.11
4.C.8.	15 inches Dome Grate	1	Each	\$151.11	\$151.11
4.C.9.	18 inches Flat Grate	1	Each	\$231.08	\$231.08
4.C.10.	18 inches Dome Grate	1	Each	\$231.08	\$231.08
4.C.11.	24 inches Flat Grate	1	Each	\$353.38	\$353.38
4.C.12.	24 inches Dome Grate	1	Each	\$353.38	\$353.38
SUBTOTAL 4 - FLANGED END SECTIONS				\$12,778.06	\$39,849.06

BID SUMMARY		
SUBTOTAL 1 - DRAINAGE PIPE	\$481.20	\$65,817.00
SUBTOTAL 2 - FITTINGS	\$1,200.00	\$6,000.00
SUBTOTAL 3 - BANDS (COUPLERS)	\$65.20	\$652.00
SUBTOTAL 4 - FLANGED END SECTIONS	\$12,778.06	\$39,849.06
TOTAL BID BASED ON ESTIMATED ANNUAL QUANTITIES	\$14,524.46	\$112,318.06